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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-1_0

minFVI
minFVO

Warning: col ['minFViraw , 'minFVOraw’ ] is missing

o ETcAlraw
—  ETcA1
—&— ETcA

: col ['ETcA2raw’, '"ETcA2'] is missing
{ ]

.0 0.2 0.4 0.6 0.8 1.

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

8000

7000 -

6000

5000

4000

3000

2000

—@— ECopt
—0— ECI
—@— ECO

29 0000

1000

Warning: col ['ECC'] is missing

97

7.4

—@— PHopt
—@—  PHI
—@— PHO

Narning: col ['PHC'] is missing

31.5 A

31.0

30. 5

30. 0

29.5

29.0

28.5 -

—@— WCperM

Warning: col [ WCperMraw' , 'WCperMavg'] is missing

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

mmmomm&mnumm&mm&mn&mm&mﬂm

1
|
1
|
|
1
)-0-0-0-0-0-0000000000000000000000000000000000000000000000000000000000000000000000000000000000000000(
1

30 A

28 A

26 A

24

22 -

20 A

—@— begM 1
—0— maxM
—@— minM

adjFVOR

Warning: col ["adjFVIRraw’, "adjFVIR, "adjFVORraw' ] s missing

..0.....00OOO000..'...“..‘.....00000000000.0..00000000000000000000....00+.0......0......0..1

FRA
FRC
FRraw
FR

60. 0

57.5 -

55.0

52.5 -

50. 0

47.5 -

45. 0 -

42.5 A

—@— beg wc

400 -

300 -

200 -

100 -

@ postFgEtraw
—0— postFgEtavg
—@— postFgEt




- 100

[=] (=] (=] (=]
(<5} © < N o
1 1 1 1

1-___! EF__#@

x
1|
29

- %
] %,
/&\

FgDai ly

o .




000000

D R/\\
. NARAIV AN
SE TN N
2000 . 1 E
T
MV V \
A b~ A
: ) A
. {N/A\Aw\ /h\/ \ [ﬂ L /\V/ \v Niva \vv V;
N VRS Mg
12{ u i

A A A

I\l " rmt i
AN A TNAR Ml VY
VR R | | g
| 1 :
. MA T A
- /\VAT VO
w| Wy \ VL \ | | 5
\\ 6 ||
- \ /AU/.\LM\/\.I\ f\m M
" 1 |
W Voo
N o
o et
e A A
: M’Wﬂ V,/ v”\va\\y/ -
V




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

ETcI ETcIdef ETcP ETcPT ETC|IS

ESo

EToI

ETbal

pR

pVPD

PPFD

I
T

1.0

0.8

0.6

0.4

-0.2



ETcl

ETol

VN

° ° ° ° °
2500 . . . . .
2000 -
1500 ~
1000
500 -
0_
1800 A
: °
1600 - o ®e,0 o
’: %% . & ° .s’:,o °
1400 o § o B0
%% So %o S
12001 4 8°% ,
° o
1000 ~ ]
:. o o ®
800 o @
°
60 © o @
o°
26 °
24 - ® o
° o,
° . ‘:. L
22 1 g ® Y °® e o ©
® o0 0. %0
204 3%.° oo o
- e e o
181° o o o%%
°
® oy ©
161 8 ° °
o ©
°
144 °
%
12 4 . .
904 & e
°
°
go{ ¢ °, . o
° .000.(00'30.,
Sd. ‘%%
70 .. e o .
I
= °S0e ¢
LA )
4 °
01 36
®
(4
20-%
T T T
°
®e
2000 -+ o® )
° {
%e o
1500 ® ®
(.@O.
@
os: ®
1000 - o o
a
400 - ol 0edS % ¢
. @ o %o ¥
@® S O o
) ® °
Yo, 000
300-‘.‘... .‘ o % °
® o
200 '8 °
e o o
)
100 -
°
°
T T T T T T T T
0 1000 2000 500 1000 1500 15 20 25 40 60 80 0 1000 2000 100 200 300 400

ETcl ETol T RH VN I



3000 A

2500

2000 -

1500 ~

1000

500 -

T
50

T
100

T
150

baiA

baiB

1.1974

0.0213

1.0

0.8 -

0.6

0.4+

0.2+

0.0

0.0

0.2 0.4

0.6

0.8

1.

bs

[e]

0

2000

1500 -

1000 -

500 ~

= Fit vs obs: a=1.12, b=-206. 91,

r=0. 94

T
500

T
1000

Fit

T
1500

T
2000

1.0

0.8 -

0.6

0.4~

0.2~

0.0

0.0

0.2

0.4

0.6

0.8

1.

0



hour

:00 -

210 -

:35

140

140

140

145

:00

100

80

- 60

- 40

§_

%

Q)
)_{?
5
s
BN
4
%

%
LN
—&&

Y

2
%
L@

%5

2
N
L

&

§

&,

&

%
o
%

)
-

.

o %

3,



P3-1
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32 -

31

30 A

—— MW

<

6&0 6&5
m=765,n FV0=0

34

33 -

32 -

31

30 A

29 ~

—— MW

7%0 755
m=900,n FV0=0

765

34

33 A

32 -

31 4

30 A

-o— MW

900 905 910




m=940, FV0=0

34

33 A

32 A

31 -

30 A

—0—

M_w

T T T T T
942.5 945.0 947.5 950.0 952.5

m

m=990, FV0=0
33 A
32 A
31 A
30 A
T T T
990 995 1000




hour

:00 - 100

210 -

15 80
15

20 - 60
140

:55

:55 - 40
:55

:55 20
:55

10 Lo




P3-1

BYiE) | GEBATK (RY) | EHRE (EAH/K) | ERERE (B/R) | XS ERE

07:15 283 150.0 2.583 = {RRiBe07:15 Bzh (REAKEE)
07:45 283 150. 0 2.583 E 1BRi&e07:45 Bz (RFAEREEE
08:15 283 150.0 2.583 F[  BRi%e08:15 Bzl (RAERSE)
08:45 283 150.0 2.583 S| {Rige08:45 Bz (KRAMERSE)
09:20 283 150. 0 2.583 E BRi%@09:20 BE1 (RAERE)
10:00 283 150.0 2.583 E|  {Ri1&@10:00 B3h (RE{ERLEE)
10:40 283 150.0 2.583 Sl {Ri%010:40 B3 (RAERSE)
11:20 283 150. 0 2.583 E BRige11:20 Bz CGRAERESE)
11:55 283 150.0 2.583 S {Ri%e11:55 Bz (GRAERSE)
12:25 283 150.0 2.583 =l {Rige12:25 B3 (REAERSE)
12:55 283 150. 0 2.583 E BRige12:55 Bz (GRAERERE)
13:25 283 150.0 2.583 5| {Ri%e13:25 B3 (RAERSE)
13:55 283 150.0 2.583 = {RRiB013:55 B (RFAKESE)
14:25 283 150. 0 2.583 E BRige14:25 Bz (GRAEREE)
14:55 283 150.0 2.583 5| {Ri%e14:55 B3 (RAERSE)
15:25 283 150.0 2.583 = RRiBe15:25 B (RFAEESE)
15:55 283 150.0 2.583 = {RRiBe15:55 Bz (REAEEE)
16:30 283 150. 0 2.583 El 1BRi&e16:30 Bz GGRAEREE)
17:10 283 150.0 2.583 F| {Rige17:10 Bzh (GRE{EREE)
Bit]5377.0 (190%) 2850. 0 3ZHKEC: 2080.0, PH: 5.5

FEREHEM S STEAERST (182.0 : 147.0), AIBEMT—W@E XFHE
FRINEPRIEBRE147.0 ml.

large discrepency for begining water status (368:66.0), set to 368 ml
E&PH (7.25) 1R

[E;&EC 6940.0 K15, EiFARECRER MitER

PE[EIRECE (1887.0 vs 6940.0) 535



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=73 (2025-06-10)

150 A

100 A
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200 {

150 -

100 A

50 -
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20 Warning: lcol ['FVI',| "FVO'] missing

o ———

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.5

Warning: lcol ['PHB’,| 'PHC’'] missing
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15

100

80 -

60

40 -
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ﬂ e v [

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2912 L 3000
1700 - 2000
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- 4000
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FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)
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29.

29.

28.

28.

31.

30.

30.

29.

29.

28.

28.

31

-@— ME
400 660 860 1600
m=570,n FV0=0
—&— ME
30 A
29
28
27
5%0 5%5 5é0
m=730,n FV0=0

—o— M_E

i
i

730 7é5 7&0
m=875,n FV0=0

-o— M_E

7
i

875 880 885

30.

29.

29.

28.

28.

31.

31.
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29.
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m=445, FV0=0
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T T
450 455

m=610,n FV0=0
—&— M_E
o
6i0 6%5 GéO
m=765,n FV0=0

—o— ME

767.5 770.0 772.5 775.0 777.5
m=915,m FV0=0

-o— ME

915 920 925

m=495, FV0=0

31.0 -

30. 5 -

30. 0 -

29.5 -

29.0 -

28.5 -

m=655,m FV0=0

30 A

29 -

28 A

27 A

26 -

m=800,m FV0=0

30. 0

29.5

29.0 -

28.5 -

28.0 -

27.5 -

T

Al

m=969,m FV0=0

31.5 4

31.0 -

30. 5

30. 0 -

29.5 -

29.0

28.5 -

31.5 4

31.0 -

30. 5 A

30.0 A

30. 5 A

30.

29.

29.
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28.

27.
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31.
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m=1040, FV0=0 m=445, FV0=0 m=495, FV0=0
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30
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28 -
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35 - 34 1 i
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33 1
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32 7 31 - ® 30 4
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31 -
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99 29
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T T T T T T T T T T T T
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m=690,m FV0=0 m=730,m FV0=0 m=765,m FV0=0 m=800,m FV0=0
341 —o— MW —o— MW —— MW 33 1 —o— MW
33 - 33
33 32
39 32 32 -
31 4
31 31 1 31 -
30 1
30 4 30 30 4
29
29 - 29 1 29
690 695 700 730 735 740 767.5 770.0 772.5 775.0 771.5 800 805 810
m=835,m FV0=0 m=875,m FV0=0 m=915,m FV0=0 m=965,m FV0=0
33 —o— MW 33 - —— MW —— MW —o— MW
33
33 -
32 32 4
39 32 1
31 31 A
31 4 31
30 - 30 4
30 30
29 - 29 -
99 | 29 -
28 - T T T 28 1 T T T T T T T T T
835 840 845 875 880 885 915 920 925 965 970 975



m=1010, FVO=0

34 7 —— MW
33 -
32 -
31 -
30 -
T T T
1010 1015 1020

m=1040, FV0=0

35 -
—— MW

34 -
33 -
32 -
31 -

T T T
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hour

:45
:20
:05
155
:35
110
140
115
115

100




P3-1

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

08:20 278 150.0 2.583 (Z=| {Ri%@08:20 Bz (FRAERHSE)
09:30 278 150.0 2.583 |Z=| 1BRi&e09:30 Bz (RAERE)
10:10 278 150.0 2.583 (£=| {Ri%@10:10 B3 (RAERSE)
10:45 278 150.0 2.583 (Z=| {Ri%@10:45 Bz (REAERSE)
11:20 278 150. 0 2.583 |Z=| Bi&e11:20 B (REEZERE)
12:05 278 150.0 2.583 (£=| {Rige12:05 B3 (RAEDSE)
12:55 278 150.0 2.583 (Z=| {Rige12:55 Bz (REAEHSE)
13:35 278 150.0 2.583 [/\ii| {Ri%@13:35 Bz (RAEHSE)
14:10 278 150.0 2.583 FA| 1BRi%@14:10 B3h (RAHERSE)
14:40 278 150.0 2.583 FA| 1BRi%@14:40 B3h (kAEREE)
15:15 278 150. 0 2.583 |Z=| BRige15:15 Bz (GRAERESE)
16:15 278 150.0 2.583 (Z=| {Ri%e16:15 Bz (FRAEHSE)
24t 3336.0 (12)%) 1800. 0 32K EC: 2080.0, PH: 5.5

FEREHEM S STEAERS (179.0 : 145.0), AIBEMT—@E XFHE
FRINEPRIEBRE145.0 ml.

large discrepency for begining water status (280:117.0), set to 280 ml.
[E;&EC 6967.0 K5, EiUF{RKECAERMitER

BE[EIRECE (1897.0 vs 6967.0) 535



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=72 (2025-06-09)

-] D S S ES
VI, V4RV, ET - VI, V0, FVI, FVO, FRV, adjFRV, ET [ 2000
2500
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100 1969
1700 59527— 2000
501 L 1000
60 Warning: lcol [FVI',| "FVO’'] missing 20
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1 s
100 A B i i i - 28 =
L 1 Il 1 |
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U
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0.6 -
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Warning: lcol ["WC1',  "WC2'] missing
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0.8 optEC0=2600. 0, setECB=2080.0 B
0.6 -
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Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o5 | OPtPHO=6.5, setPHB=5.5 N
0.6 -
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0.2 -
Warning: lcol ['PHB’,| 'PHC’'] missing
%3 : - 4000
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m=375, FV0=0 m=420, FV0=0 m=470, FV0=0

27.54 ~® ME 30 0 4 - ME —o— NE
30.5
27.0 - 29.5 1
i 29.0
26.0 28.5 1
28.0 i \'\_.
25.5 4 29.5
27.5
25.0
T T T T T T T 27 0 B T T T 29 0 L T T T
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m=585,m FV0=0 m=655,m FV0=0 m=695,m FV0=0 m=760,m FV0=0
30.0 1 —e— ME —o— e | 3007 —— ME | o —o— ME
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31.0
29.0 30.01 30.5 -
28.5 29.5 1 30.5 7
30.0
28. 0 - 29 0 - 30. 0
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27.5 085 29.5
27 0- 29.0 2.0
T T T 28 0 - T T T T T T T T ’ T T T
835 840 845 877.5 880.0 882.5 885.0 887.5 920 925 930 1000 1005 1010
m m=375,m FV0=0 m=420,m FV0=0 m=470,m FV0=0
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28 -
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- 33 -
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26 - 30 32
28 -
25 31 .‘N-o..
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24 - 30 -
24 - —— MW
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m=585, FV0=0
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28 -

—0—
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m=835,m FV0=0

31 4
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—0—
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T
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m=695, FV0=0

33 A

32 A
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—0—
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T
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T T
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m=875,m FV0=0
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30 A
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27 -

—0—

M_W
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28 -

695

T T
700 705
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P3-1

BfiE) | EBAK G | ERE (EAR/H) | ERERE (B/R) | XK R

07:20 278 150.0 2.583 = {RRiB007:20 B (RFAEEE)
07:50 278 150. 0 2.583 E BRi&e07:50 Bz (RAERE)
08:20 278 150.0 2.583 5| {Ri%@08:20 Bz (FAERSE)
08:50 278 150.0 2.583 = {RRiB008:50 Bz (FRFA{EEE)
09:20 278 150. 0 2.583 E BRi&@09:20 Bah (RAERE)
09:50 278 150.0 2.583 =l {Ri%@09:50 B3 (RAERSE)
10:20 278 150.0 2.583 =l RRi8010:20 B (RFAEEE)
10:55 278 150.0 2.583 = {RRiB010:55 Bz (REAEEE)
11:30 278 150. 0 2.583 5 {Ri%e11:30 Bz (RAERSE)
12:00 278 150.0 2.583 =l {Rige12:00 B3 (RAERSE)
12:30 278 150.0 2.583 =l RRiB012:30 Bz (RAKEE)
13:00 278 150. 0 2.583 E| {Rig@13:00 B3h (RE{ERSE)
13:30 278 150.0 2.583 F BRi%e13:30 Bz (GRAERESE)
14:00 278 150.0 2.583 =l RRiB0@14:00 Bz (REAKEE)
14:30 278 150. 0 2.583 E BRige14:30 Bz CGRAERESE)
15:00 278 150.0 2.583 F[ BRi%e15:00 Bz (GRAEREE)
15:30 278 150.0 2.583 =l RRiB015:30 B3 (RFAKEE)
16:00 278 150. 0 2.583 El BRige16:00 Bzl (RAERERE)
16:30 278 150.0 2.583 5| {Ri%016:30 B3 (FRAERSE)
17:05 278 150.0 2.583 =l RRiB@17:05 Bz (REAEESE)
21t 5560.0 (20%) 3000. 0 3EGHKEC: 2080.0, PH: 5.6

FEREHEM S STEAERS (179.0 : 145.0), AIBEMT—@E XFHE
FRINEPRIEBRE145.0 ml.

large discrepency for begining water status (402:84.0), set to 402 ml
[E;&EC 6500.0 K5, EiF{RECAERMitER

BEERECE (1927.0 vs 6500.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=71 (2025-06-08)
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Warning: lcol [FVI',| "FVO’'] missing 60

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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